Practice! (Mole to Mole)

1) When aluminum is heated in the presence of oxygen, aluminum oxide is formed. How
many mcan be made from 7.0 moles of aluminum?

YA + 20, () —> 2H0 (5
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2) When steam is passed over iron, hydrogen gas and iron (Il) oxide are formed. How many
oles of steam Would be needed to completely react 3.0 moles of iron?

Ho (5) + (Y —> H, 6) + RO ()
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3) In areaction between ammonium hydroxide and copper (ll) nitrate, how many moles of
is needed to create 8.4 moles of copper (ll) hydroxide

precipitate?

2 OH (ag) + Ca(Ws), lg) —> Cn(0h), () + 2p6
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4) When ammonia gas (NHs) is heated in the presence of oxygen, nitrogen and-water are
created. How many moles of nitrogen gas are produced if 18 moles of ammonia are
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5) How n@was made from a reaction between copper (l) nitrate and iron if 6.3
moles of iron (ll) nitrate were created?

20uN0; (ag) + o () = (W), (o) +20u ()
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6) How many moles of chlorine Will be needed to react with 14 moles of potassium iodide
completelys

cy (5) AT (og) —D2UC (ag) + I, (5)
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More Practice! (Grams to Grams)

7) 47.2 grams of zinc reacts with hydrochloric acid (HCI). How many grams of\_d)ﬁi}irogmga‘s
would be produced?

Zn () +aHel () —> zach G + (s)
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8) 112.2 g of calcium oxide combines with tetraphosphorus decoxide to create calcium
phosphate. How many grams o ould be created?

CaO (Y + T0p@) —>3as (Pry), ()
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9) How much @is needed to react completely with 14.5 g of hydrogen
fluoride if the reaction produces silicon difluoride and water?

S0 (4) +pzm:(a,3 — SR @ + 40 (0)
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10) Aluminum is placed into a solution of iron (1) nitrate. If 62.1 g of iron was created, how
many grams owere made?

20l (s) +3R(Ms), lr) —> 2H(0), &) +3R ()
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11) Hydrogen peroxide decomposes into water and oxygen. If 13.5 g of oxygen is produced,
how (nuch hydrogen peroxide did you start with?

21460, ) —> 60 () + 4 ()
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